3/16" DIA CABLE (GALV)
3/8-16 THREADED END (SST)
3/8 FENDER WASHER

3/8 SPLIT LOCK WASER
3/8-16 HEX NUT

356 CAST ALUM CABLE STOP

CAST 356 ALUM SADDLE

3/4" NPT OR 1-1/2" NPS

5/16-18 U-BOLT
(2) 5/16 SPLIT LOCK WASHER
(2) 5/16-18 HEX NUT

PART NUMBER EXAMPLE

PORT SIZE

075 | 3/4 NPT SBC45-MM-150

150 | 1-1/2 NPS

CABLE LENGTH

PORT SIZE
CABLE LENGTH | MAX MAST
ARM DIA
45" 1"
62" 16" THE INFORMATION CONTAINED TN E—— —
" " ITD'—DQ%P?E%TA\YW PD\‘FGS@BTRHAEC%E)%.E ANY :“"‘i
84 22 RSDUCIONANRRLOANEOLE | waar aam Wouwrmng maswanee |
OF SKYBRACKET IS PROHIBITED. T
APPROVALS BY DATE MINI MOUNT (CABLE CLAMP)
NOTES: brAWN | RR BAUER [2019-01-02
1. STAINLESS STEEL HARDWARE. SALES
SIZE | DWG. NO. REV
2. AVAILABLE WITH BAND STYLE CLAMP. — A SBCA5-MM-150 ;
DO NOT SCALE DRAWING SCALE: NTSlCAD FILE:SBCA5-MM-150 |SHEET 10F1




	Sheet1
	Drawing View1


